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Note : 	All questions are compulsary. Marks are alloted 

against each question. 

1. 	Write the full name of the following : 

(a) H2SO4  

(b) KNO3  

(c) SCERT 

(d) CCE 

(e) MSJ and E 

1x5=5 

2. 	Define the following : 

(a) Atomic Mass 

(b) Velocity 

(c) Fungi 

(d) Deductive Method 

(e) Science teaching 

2x5=10 
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3. 	Write short notes (Any four) : 	 4x5=20 
(a) Group work in inclusive setup. 

(b) Improvisation in science activities to 
facilitate visually impaired children. 

(c) Need for teaching science to the visually 
impaired children. 

(d) Adapting NCERT text books for children 
with visual impairment. 

(e) Objectives of science teaching to children 
with visual impairment. 

	

4. 	Answer any one of the following in 250 words. 1x10=10 
(a) Critically analyse the existing pattern of 

examination in schools and suggest 
alternate assessment devices to modify the 
pattern of examination for children with 
visual impairment. 

(b) Develop a plan of assessment for learners 
with visual impairment, keeping in mind the 
objectives of teaching science at upper 
primary level. 

(c) Are you satisfied with the present system 
of evaluation ? What changes would you 
bring to make it accessible for the children 
with visual impairment ? 
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1. 	F-mror(5d .wr -00 TR -F -  R 1 	 1x5=5 

(a) H2SO4  

(b) KNO3  

(c) SCERT 

(d) CCE 

(e) MSJ and E 

2. 	Pii-ircifigcf 11' -crftiTrfsruTlf-A7 I 

(a) TRT-T9 1-TTT 

(b) -411  

(c) chcich 

(d) f9TPTff fdftT 

(e) fd7T9.  #1TWIT 

2x5=10 
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3. tfq(71f6ccitt ffftr7 (&77 wr0 I 	 4x5=20 

(a) ti4-11 Plc( tif-{4qT4T1P117ct chi 	 I 

(b) fa-jrifwzra-14. fiz 	iqdlt rM 

-firriut 

(c) frEa-4T-rw -4Q 	fq--Jrff 	31-rq-Fr---dT 

(d) fzq-fwt 	7... 37.z?. 1-1Idyl 
T:TrO 3T-ftf—d-u cfro I 

(e) ITTUT off7k-4-7 I 

4. 	F-14--Iirchd 	 Mq-f .W1* d7R 250 71-- f 14 

q 	 1x10=10 `l r\m 

(a) rcNIK-Q-44 LI1Uit It* 

174 	T-Tit4 t 	 4-1\ 1.1.)1 

1-foTref 	I 

(b) d-cci '5112TITTw Zcit -c17 fd7F fqTkTuT t 7-0-z4 
btfri 	kr-q[fira turr2i-zff 
4-1\Q-qict)-17h--9-r raa-Act 

(c) cf.41 3TFT 41c-qichl 	a4179. -crzt -4 Ti5z t ? 
774 31-7 11-1-t yrock 

Oz-q- fsq-dt FrR t14-1 ? 
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